Social Studies Grade 5 C

Grade Level Standard(s):

5.H.CO.1

Materials:

Social Studies Grade 5 C

e Social Studies 5 C Attainment Task Questions for Student

Use

Response Code:
¢ Indicate the answer provided by the student.

Alternate Kentucky Summative Assessment

Text Coding:
e “Quotation marks” indicate the script that the teacher
should read to the student.
e [talicized text provides further direction for the test
administrator.
e Words in parenthesis ( ) are optional; they may replace or
be read in addition to the word(s) immediately preceding.
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Social Studies Grade 5 C

a. They settled all disagreements before b. They did not agree to ratify the c. They agreed to ratify the Constitution
ratifying the Constitution. Constitution because of the compromise. because changes could be made.
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Social Studies Grade 5 C

Before beginning task administration, please ensure that all conditions specified in the administration protocol (starting on page 10 of
the Administration Guide Overview and Attainment Task Administration) have been met. Inform the student that the task is about to
start by saying, “We are about to start the task, and | am going to ask you some questions.”

All questions from this task are available for presentation to the student in the supplemental material Social Studies 5 C Attainment

Task Questions for Student Use.

“Carly is studying U.S. culture. She notices culture changes over time. She explores the relationship between American Indians and the

early settlers.”

5. “Allowing amendments to the Constitution is considered a compromise of the founding fathers. How did this compromise impact

the ratification of the Constitution?”

Response Option

Response Rationale

a. They settled all disagreements before ratifying the Constitution.

The student identifies that the Constitution was ratified but does
not identify the compromise that led to its ratification.

b. They did not agree to ratify the Constitution because of the
compromise.

The student incorrectly indicates that they were unable to
compromise and therefore did not ratify the Constitution.

c. They agreed to ratify the Constitution because changes could
be made. (Correct)

The student demonstrates an understanding of compromise by
identifying how allowing amendments led to the ratification of the
Constitution.

Depth of Knowledge (DOK) 2

Alternate Kentucky Summative Assessment
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Social Studies 5 C Attainment Task Questions for Student Use

5. Allowing amendments to the Constitution is considered a compromise of the founding fathers.
How did this compromise impact the ratification of the Constitution?
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Kentucky Academic Standard: 5.H.CO.1- Analyze the role conflict and collaboration played in the founding of the United States.

Alternate Assessment Target: No limitations, all parts of the Kentucky Academic Standard are eligible to be included as an
assessment item.

Student Group Number of Students Percent Correct
All Students 523 56.21%
Gender

Female 180 55.56%
Male 343 56.56%
Ethnicity

African American 68 52.94%
American Indian or Alaska Native <10 Not Reported
Asian <10 Not Reported
Hispanic of Latino <10 Not Reported
Native Hawaiian of Pacific Islander <10 Not Reported
White (Non-Hispanic) 384 57.29%
Two or More Races 61 54.10%
English Learner 30 56.67%
Economically Disadvantaged 414 57.25%

*Number of students that attempted the item
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